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RAFFLES GIRLS’ PRIMARY SCHOOL
WEIGHTED ASSESSMENT 1 2023

MATHEMATICS
PRIMARY 6
( )
Form Class: P6 . Math Teacher: __
Date: 28 February 2023 ‘Duration: 50 minutes

Your Total Score
(Out of 30 marks)

Parent’s Signature

INSTRUCTIONS TO CANDIDATES

1. Do not turn over this page until you are told to do so.
2. Follow all instructions carefully.
3. Answer ALL questions and show all working clearly.

4. The use of calculator is allowed for this paper.
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Quesﬁons’ 1 and 2’cérry 1 mark each and Questions 3 to 10 carry 2 marks each. :
Show your working clearly and write your answers in the spaces provided.
For questions which require units, give your answers in the units stated. [18 marks]

4 What is the missing number in the box?

3 000 000 + 10 000 + +8 =3014008

Ans: (1]

2. Use all the digits 4, 5, 6, 8 to form the greatest number between 5 000 and 6 000.

Ans: 1]
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3. How many halves are there in 5r2-’?

Ans: [2]

4. Arrange these fractions from the smallest to the largest.
1 - 13 3
2> . oz 2=
Ans: , ' ; [2]
Smallest Largest
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Mr Ravi bohght some boxes of -chOm!ates. Each box contained 12cho¢olates. The
total number of chocolates Mr Ravi bought was more than 50 but fewer than 100, Mr
Ravi ate 7 chocolates and gave the rest equally to each of his 5 children. How many

chocolates did each child get?

Ans: [2]

Fillin the boxes with the correct matherhatical symbols. Eachsymbol can oniy be

used once.

38 @

56 4 + 3 18
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' | AR : ' _ ' 2
7. Eva spent = of her savings on a gift for her brother. Then, she spent 3 of the

remainder on a school bag. What fraction of her savings had she left?

Give your answer in the simplest form.

Ans: [2]

8. Terry had 3 times as many $2-notes as $5-notes. He had $385 altogether. How

many $5-notes did Terry have?

Ans: 2]
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9.

10.

: : 3
Aminah had an equal number of sunflowers and roses. She gave away 5 of the

1
sunflowers and some roses. In the end, she was left with Z of the total number of

flowers. What fraction of the r@ses did she give away?

Ans: : [2]

: 2
There are some pink, black and green beads in a container. 5 of the beads are pink.

There are more black beads than green beads.

Each of the statements below is either true, false or not possible to tell from the

information given. For each statement, put a tick(v') to indicate your answer.

R AR e i
(a) There are fewer green beads than

pink beads.

1
(b) Ifg of the pink beads are used,

there will be more black beads

than pink beads left. (2]
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" For questions 11 to 13, show your working clearly and write your answers in the spaces
provided. The number of marks available is shown in the brackets [ ] at the end of each
question or part-question. , ' [12 marks]

11.  Tim and Jerry were paid a total of $8568 for selling tickets. Tim was paid $5304

more than Jermry.

(a) How much was Tim paid for selling the tickets?
(b) Tim and Jerry were paid based on the number of tickets they sold. Tim sold 3
_ times as many tickets as Jerry. Tim_was paid $5 more than Jerry for selling each

" ticket. How many tickets did Tim sell?

Ans: (a) [2]

(b) (3]
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12

. 4
Ruth needs 90 pieces of ribbons each of length 5m to decorate a room. Ribbon is

sold in rolls of 10 m each.
(@) Whatis the maximum number of pieces of ribbon she can get from a roll of

10 m?
(b)  What is the least number of rolls of ribbon that Ruth needs to buy?

\ Ans: (a)

(b)
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13. Ahmad used sticks to form the following figures.

Figdre 1 Figure2 Figure 3

(a) The table shows the n'_umber of triangles and sticks for the first three figures.

Complete the téble for Figure 4.

Figure Nuhiber Numbér of triangles Number of sticks
1 2 8
2 - 4 15
3 6 22
4 ( ) ( )

[1]
(b) A figure in the pattern has a total of 2507 sticks.
What is the Figure Number?

Ans: (b) Figure __[2]

END OF PAPER
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YEAR: . 2023

LEVEL : PRIMARY 6

SCHOOL : RAFFLES GIRLS’ PRIMARY SCHOOL
SUBJECT : MATHEMATICS

TERM : WEIGHTED ASSESSMENT 1

WEIGHTED ASSESSMENT 1

Q1 3 000 000 + 10 000 + 8 =3 010 008 Q2 5864
3014 008 —3 010 008 = 4000
Q3 ] Q4 Fo
11,121122 11 . %
272 70171
=11
Q5 1 box : 12 chocolate Q6 56 +4+3x8=38
12 x6=72
72—-7=65
65+5=13
Q7. Total savings at first=1ux 7 =7 Q8 $2 notes £3x°S2 = 6u
- Left:2u S5 notes +1u x S5 =5u
Left -2 pu+ 5u=11u
- Total g7 1u %35 (no. of $5 notes)
Q9 Sunflower =5u x 2 Q10 (a) True
=10u (b)yNot possible to tell
Roses =5ux 2
=10u

10u + 10u = 20u
Sunflower = 4u
Roses =1u
5u—4u = 1u( roses left)
10u — 1u = 9u (roses given away)

9
Ans: —
10

Q11 (a) 8568 — 5304 = 3264 Q12 (a) 10+ f;_ = 12,5 (pieces)
3264 2= 1632 7 )
163245304 = 6936 (b) 90 +12=77
(b) 3 times Ticket : 6936 7+1=8
1 time Ticket : 2312
2312 -1632 =680
680+5=136
136 x3 =408

Q13 (a) (8) (29)
(b) Figure no.x 7 +1 = 2507
Figure no. = 2507 -1
= 2506
2506 + 7 = 358

Pﬁ\
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